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FRELUL 16.1% 18.8% 16.7% 17.2% 17.9% 17.9%
SEE SRR 27.0% 24.1% 25.4% 24.6% 27.3% 35.4%
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BEeE | &t | B | & | B | &tE | Btk | & | B | kit | B | &%
EEH 0%  100% 0%  100% 0% 100%| 0.0% 100% 0% 100%| 0.0%| 100.0%
EEf 0%  100% 31%|  100% 20%| 100%| 15.4%| 100%| 0.0%| 100%| 25.0%| 100.0%
EFEE AT 0% 100% 2% 100% 20%|  100% 7.7% 100%] 22.2%| 100%| 25.0%| 100.0%
EER 9%  100% 4% 100% 0% 100%| 23.1%| 100%| 26.7%| 100%| 18.2%| 100.0%
ZDih 0%  100% 0%  100% 0%| 100%|— — — 100% — —
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%ﬂﬁﬁgg‘*ﬂﬁ 50.0% 38.7% 76.9% 45.0% 54.3% 67.9%
5A L EEEE — — — 22.5% 45.7% 50.0%
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